% VA I D JiE R Jali:

B4

B ROFHEZ LRI\,

O (P*+x—5)—(—4x*—2x—1)

@ (7a*+2a—5)+(6a*+a+1)

® (Bx—7y)+(—3x—5y)

@ (4x*+7x)—(—5x*—7x)

5 (6x—y— 4)+(5x— 7y+4)

© (3a—4b)—(3a—4b)

/10

@ (x+6y)+(x+2y)

(a—7b—4)—(a—5)

@ (Ba®*—5a)+(2a*>—7a)

(5x2—6)+(2x%+3x+4)




% VA I D JiE R Jali:

B4

B ROFHEZ LRI\,

O (P*+x—5)—(—4x*—2x—1)

= x*4+x—5+4x*+2x+1

5x*+3x—4

@ (7a*+2a—5)+(6a*+a+1)

=7a*+2a—5+6a*+a+1

13a%*+3a—4

® (Bx—7y)+(—3x—5y)

=3x—T7y—3x—5y

—12y

@ (4x*+7x)—(—5x*—7x)

= 4x*+Tx+5x%+7x

9x?+14x

5 (6x—y— 4)+(5x— 7y+4)

=6x—y—4+5x—T7y+4

11x—8y

/10

© (3a—4b)—(3a—4b)

=3a—4b—3a+4b

@ (x+6y)+(x+2y)

= x+6y+x+2y

2x+8y

(a—7b—4)—(a—5)

=a—7b—4—a+b

—7b+1

@ (Ba®*—5a)+(2a*>—7a)

=3a’—5a+2a*—T7a

5a*—12a

(5x2—6)+(2x%+3x+4)

= 5x2— 6+2x%+3x+4

Tx*4+3x—2




